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B 52 BRES OUT IN GROSS HDGP NET [ BERESR OUT IN GROSS HDCP NET
B BAE & A1 46 8] 24.0 63.0 6167 $AA Kk 51 51 102 27.2 4.8
2 e RE 36 42 78 11.2 668 6201 MA =ik 43 43 91 16.0 75.0
L 2R m=E 37 43 80 12.8 67.2 6361 ke fwl 50 49 99 24.0 750
Rl 20 50 90 22.4 67.6 646 BaA E— 39 44 83 80 750
IFAEATEE S 38 41 79 11.2 67.8 650 Al =R 4L 61 105 30.0 75.0
66 AL & 76 46 92 24.0 680 666 /B FEwl 43 45 88 12.8 5.2
T =% B= 42 50 92 24.0 68.0 676 2w =Eth 50 48 98 22.4 75.6
8 A Bk, 7T 45 86 17.6 68 4 6861 Mk =+ 1 51 55 106 30.4 5.6
i HE &5 35 43 78 9.6 68.4 60 & B 51 44 95 19.2 75.8
0 gl &= 70 43 83 14.4 68.6 7061 e BX 49 46 95 19.2 758
Ty = Ik 39 41 80 11.2 68.8 T Bt B 43 47 95 19.2 75.8
2 mE 2w 74 52 96 2/.2 68.8 726 ME Bk 52 51 103 27.2 5.8
1361 HF 3 49 50 99 30.0 69.0 736 #A_BA 48 52 100 24.0 76.0
T4 =7A mE 72 43 85 16.0 69.0 T 52 FOH 53 59 112 36.0 76.0
5% & ?-.%15 39 43 82 12.8 69.2 7560 ILF EZ 43 46 89 12.8 76.2
6/ X157 = 35 39 74 4.8 692 7661 5 LT+, 50 55 105 28.8 6.2
Ty oA Bfr 50 45 95 25.6 69.4 Tif it HE 58 54 112 35.2 6.8
18z Al &5 3% 37/ 71 1.6 694 T8 = 72 46 88 11.2 76.8
19z A 8F 34 39 73 3.2 69.8 79% xE  MMRF 50 48 93 20.8 7.2
206 T8 E=E 36 34 70 0.0 700 80 =i H=+ %6 41 8] 9.6 714
200 —tn RIE 39 39 78 8.0 70.0 81l mA —0 57 51 108 30.0 78.0
2200 2m B 43 40 83 12.8 70.2 82fL kA T 52 56 108 30.0 78.0
236 HE = 46 45 91 20.8 0.2 83 Al BET 55 59 114 36.0 /8.0
206 =B F2 75 54 99 28.8 702 846 =m 1B 51 5/ 108 30.0 78.0
2561 # _Bh=l 35 3/ 12 1.6 70.4 850 AR & 49 59 108 30.0 78.0
2602 LM BH 473 45 88 17.6 70.4 86 mH Bk 47 61 108 30.0 78.0
215 tha Br 37 40 77 6.4 70.6 876 A BB 53 51 104 25.6 /8.4
2861 #aE_ aha 36 41 7] 6.4 706 88 Al @ 50 51 101 22.4 78.6
200 ERA FB. 39 48 87 16.0 J1.0 80fL A WL 51 55 106 27.2 78.8
30 /NE  BH 48 52 100 28.8 /1.2 90fL A #EXR 53 56 109 30.0 79.0
36 %m E— 39 45 84 12.8 71.2 911 mnE& ek, 43 52 100 20.8 79.2
0 _KIE_mA 74 45 80 17.6 /1.4 9261 LB &iE 44 48 92 12.8 79.2
B TE BE 43 49 97 25.6 /1.4 RS E3 52 53 105 25.6 /9.4
346 felE = 38 3/ 75 3.2 711.8 946 85K HRT 50 52 102 22.4 79.6
356 &A@ XTI 43 48 91 19.2 71.8 05h A B 43 59 107 27.2 79.8
366 Al 15 20 51 91 19.2 71.8 06fL % fe=— 43 48 96 16.0 80.0
I TR hE 44 44 88 16.0 72.0 97fL %EM =F 54 56 110 30.0 80.0
386 oAk ZEhN 44 41 85 12.8 72.2 98f1 mH R 53 57 110 30.0 80.0
06 A —= T 41 82 9.6 72.4 90f #Adb TRIET 59 57 116 35.2 80.8
40fL #X)I F0am 7 43 8] 14.4 712.6 T00F% EIR 2K 53 52 105 24.0 81.0
A6 thok &k 49 51 100 27.2 712.8 01 FH & 50 64 118 36.0 82.0
DL 28 &k 45 44 80 16.0 73.0 1020 &0 T 54 64 118 36.0 82.0
36 EM Ak 49 54 103 30.0 73.0 103 ik FRZ 57 55 112 28.8 83.2
AL BRI T AER 38 40 78 4.8 732 T04fL BB Rl 51 53 104 20.8 83.2
56 NE BRI 36 42 78 4.8 73.2 10650 /NE TE= 59 57 116 30.0 86.0
466 B B 74 39 83 96 734 106fL B nUF 62 60 122 36.0 86.0
i BA =— AT 42 83 9.6 73.4 10712 2R BRAT 61 58 119 30.0 89.0
1B 2k = %6 53 90 256 734 T8 =% %E 56 66 122 30.0 92.0
401 #B% =8 38 45 83 9.6 73.4 109f & &BZ 53 76 129 30.0 99.0
506 At B3 727 338 80 6.4 73.6

516 BB XX 45 43 88 144 73.6

5201 %Zm BE 45 43 88 14.4 73.6 —TFEVUH RAMTORY
53GL F_ <FEF 47 49 96 22.4 73.6

54 =H  BE 46 55 101 27.2 73.8 No7 RIF=EA  No13 =R  FHEZ 70
55(; A BHF 47 51 98 24.0 74.0

566 A=A 48 47 95 20.8 742 No8 Z=E@EZE  No15 L@ SF TR

576 Bl RA 39 40 79 4.8 742

b8 Kk AR 46 46 92 17.6 4.4 No.11 £4EH =P No.18  AJIEH UBEF

50 A AET 49 51 100 25.6 /4.4

606 A H _#h 7 48 92 17.6 744
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